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Answer any five questions out of seven.

1. (a) Explain why Orbital Mechanics is
required for the study of Satellite
Communication. 5

(b) By using two different types of forces
on the satellite, find out the equation
for the velocity and time required for a
satellite to rotate around the planet in
its orbit. 15

2. (a) Explain why repeater is used in
satellite for the study of Satellite
Communication. 7
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(b) Explain Antenna subsystem in details.
6

(c) Explain the design of downlinks of a
Satellite Communication system. Also
describe the link budget calculation of
the above design. 10
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